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401 Al HIZL 2 0HY| 417,990 0 417,990
01 Al&H| 417,990 0 417,990
OFXES 728K 2 FEXE HE TAIHEAA
23 90,000, 000& = 14! 90,000
OFXEs 728X SIFAE HEY AHEAHH|
8,700,000,000& *x3.77% 327,990
23S 194491 X L& Z2AF=XE | 1,551,050 0 1,551,050
401 AIEHIZL 201 Y| 1,551,050 0 1,551,050
01 Al&H| 1,549,050 0 1,549,050
28 s 1944H X L& Z2HE=XNE HHl A
S| 1,500,000, 000& *3.27% 49,050
O28s 1944H X L& Z2HF=XE HHl BA
1,500,000,000& 14! 1,500,000
03 Al 201 Y| 2,000 0 2,000
28 s 1944H X L& Z2HE=XNE HHl A&
2048l 2,000,000& 2,000
2ES 94X BEFIE HE 366,600 0 366,600
401 Al HI L E0HHI 366,600 0 366,600
01 Al& H| 366,600 0 366,600
2ES 9M4HA 2IFIE HE 2AH s
9,750,000,000& *3.76% 366,600
OlHIH (REAY) 9,058,800 0 9,058,800
ol g1 4] 9,058,800 0 9,058,800
801 oyl bl 9,058,800 0 9,058,800




AR =

HEM: NE HOYAIZ M2 L WE o4& &8
S oidlg(LEAMY) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
1 B0l d d] 9,058,800 0 9,058,800
ool Bl gl 9,058,800,000& 9,058,800
MEEss(WEIIE) 1,592,600 4,650,800 A 3,058,200
SRS (WSAY) 1,504,100 4,562,300 A 3,058,200
BEX= 1,504,100 4,562,300 A 3,058,200
311 X 20| KFak&t 304,100 742,300 A 438,200
01 Al - & - PAEML I 2R 20| XHAHE 304,100 742,300 A 438,200
OO0tEsE 29F:=XE HEg 812 0lAF A&
14,700,000& 14,700
OAUIE SIFXE HE X2 0IA A&
4,240,000,0002 *3.5% 148,400
O=2dsE 688HAl EEFXNE HY A2 0lA
A & 4,700,000, 000 x3% 141,000
601 Xl 2| S atst 1,200,000 3,820,000 A 2,620,000
01 Al - 2 - PAEMNEIZSXNLSASAE 1,200,000 3,820,000 A 2,620,000
OltEls Z2EFXZ 2HE X2 248H(2
53 = 33]) 140,000,000 140,000
OMUIZEE SYEXE Y B2 A3 48
2 U535 = 28) 5,300,000,000& /53] 1,060,000
HWEHAHXES (NS AZ) 88,500 88,500 0
LHEHHX = 88,500 88,500 0
705 Ol=2 2| 24E 88,500 88,500 0
02 0Il£=20| K& & 88,500 88,500 0
O%’S% 688H A ZHAF=XNE HE X2 0l XA
&b & &= 3,000,000,000& x2.95% 88,500




= o
A & 0l & AF 2 E A A
20178 & =204 NS ALY A
AN HHEsnsSH
HH: DSANYXD
Sol: DEIN HY(WSAY) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s 4,994,044 6,582,905 A 1,588,861
< 266,625
Al 4,727,419
WA XA 4,621,594 6,260,311 A 1,638,717
< 266,625
Al 4,354,969
NEEM EHE(RSAMY) 2,274,579 2,619,361 N 344,782
EEFEINHS 2012 AY 3,300 3,300 0
303 Z& 3 3,300 3,300 0
01 243 3,300 3,300 0
OSYFZXEHS 0|2 Al 3,300
—xe= 1,500, 000& 1,500
- 1,000,000 1,000
- & 800,000& 800
WEXNTHSH ABIRFA 3,000 3,000 0
203 R =&t 3,000 3,000 0
03 A F=XH R =AY 3,000 3,000 0
OUsSXE A d2FX 3,000
—wNsSEM HEES =4 1,500, 000& 1,500
-85 X ¢85 =& 1,500,000 1,500
IME==PNREE =k s Na ] 66,280 64,680 1,600
201 Let24E] 28,480 26,880 1,600
01 At 22l 27,480 25,880 1,600
OusSENEEY =Dz SEHI(X=DI)
7,0003 4H 5 « 128 1,680
OA -7 2 = 3% o8 A=(25=2.S
=) 100,000& » 129K »23| 25,800
02 =224l 1,000 1,000 0
OusSiEesd 24X
100,000& 10 13l 1,000
202 oddl 37,800 37,800 0
01 = LH o4 1l 37,800 37,800 0
OJl2ge=a0dl 150,000& »21H 128 37,800
=Y = - IX LEHzE SEAAY 25 35,680 55,800 220,120
201 Let24E] 35,680 34,800 880
02 2324l 35,680 34,800 880
OJta A ==2 80& *236,000H 18,880
O=2Y =- 3% Lthig SN2 FES
1,400,000& 128 16,800
HA HEZE &0 €X &5 25,000 25,000 0




= - — SHE|
E - G2 (3) - A - BES 0l &t o8 il HlnE2
401 Al& Bl & 28I 25,000 25,000 0
01 A& HI 25,000 25,000 0
OHAFZRE & WXZ dEE FANES
2,500,000 1004 & 25,000
SEMN SAEH KA 170,762 167,568 3,194
307 21201 A 170,762 167,568 3,194
02 It S AHE L 170,762 167,568 3,194
ORSENMASNE(LSEMHES!) 52,060
—AcgsH XA 21,600,000 21,600
—AEsE 2 N 18,060,000 18,060
—wWSHEEH 2 XA 12,400,000& 12,400
QUEEMAZX (ZYHSERS) 55,640
—AczgsH XA 32,400,000& 32,400
—HAEs 2L N& 15,785,000& 15,785
—nsSHEEH F X 7,455,000& 7,455
Ol olnsSHE XA (=400l g) 63,062
—NES Y AEIY Y X
63,062,000 63,062
X AL &S AE 22/01 Ml 16,800 16,800 0
201 2et24d] 16,800 16,800 0
02 8323l 16,800 16,800 0
OFFX QA8 o= AFA 22|10l MElA 2 XH(
sU) 23 800,000& »12& 9,600
OFZX e & AME 220l MHlA RXE
= 600,000 »12& 7,200
HACIAI (HE T AIJNL S A QIEAIY) 1,948,707 2,283,213 A 334,506
09 MEZ 1,703,957 2,238,863 A 534,906
01 SAL- SHINTES 1,703,957 2,238,863 A 534,906
OAQAY 2F 1,539,070,000& 1,539,070
OUALSHI 2ItILXIA 164,887,000& 164,887
404 SANSHUZ2HES 244,750 44,350 200,400
01 SA- BHA=2EEZ 244,750 44,350 200,400
OAQAY 2 244,750,000 244,750
AAESXerdEE KA 5,050 0 5,050
201 Let24d]| 4,000 0 4,000
01 At 2teltl 4,000 0 4,000
OXsietdEH A S22 HH
2,000,000 » 14! 2,000
OXNsketdEA HAES Xt
2,000,000 » 14! 2,000
301 L2 A S 1,050 0 1,050




5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 1,050 0 1,050
OXsXetdEHH A 0O X
7,000 «150H 12«13l 1,050
HAOE L3 (NSAY) 1,311,150 1,198,256 112,894
HA SEHAA &S 11,780 11,780 0
201 Let249] 3,580 3,580 0
01 At 22/l 3,580 3,580 0
OHAZSSAMY AR 22l 1,000, 000& 1,000
OHA SEXDOX & t S 2 (0F2)
7,000 x5H #43] 128 1,680
OHAREr e XSS =H 900
— gst= 100,000 »9H x 13| 900
202 O4dl 7,200 7,200 0
01 = LH 4 Hi 7,200 7,200 0
OHASHHS = AAHHLE ol
150,000 4 <122 7,200
203 YR =&l 1,000 1,000 0
03 Al F=XH 2= AH| 1,000 1,000 0
OHAZSAY A 235 =& 1,000, 000& 1,000
HAZRFE 2el & B+ 300,000 300,000 0
401 Al HIZ 2018 300,000 300,000 0
01 A& HI 300,000 300,000 0
ods 8% 52 Xl
15,000,000 *209H 2~ 300,000
tEs HASE X 0DA = EEANESA AE 507,189 438,817 68,372
=
309 HMES 496,209 434,667 61,542
01 SAM - SHIHNES 496,209 434,667 61,542
OAMsES 2EX0X 299 474,150,000 474,150
Ot ALHHl £t 22,059,000& 22,059
404 SASHIHEEES 10,980 4,150 6,830
01 SAt - SEHIUSEES 10,980 4,150 6,830
OMSESs SEXAX 22 10,980, 000& 10,980
HARSE /(YT ANLS A FAEAS) 492,181 447,659 44,522
09 MEZ 489,701 443,159 46,542
01 SAL- SHINTES 489,701 443,159 46,542
OHAZRE 22 ¥ B (HFF 0ld X&)
462,058,000 462,058
O ASHI 2IILXIAM 27,643,000 27,643
404 SASHIEZEES 2,480 4,500 A 2,020




2N HESLSH
g DSAMEXE

¢elr HAOE 243 (SAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 SAt- SHGE2EE= 2,480 4,500 A2,020
OWHAZRE @2l 2 24(HEY 018 Z8)
2,480,000 2,480
BIAI2EHE (LEAL) 1,023,559 2,430,388 A 1,406,829
< 266,625
Al 756,934
BASHHATS Y HAIBHEAY SE2SHE (X 75,800 40,600 35,200
)
201 LBt 8,400 8,400 0
01 At 22l 8,400 8,400 0
OHAl=gIHAER N-EHSJ O= 1,400
— gst= 100,000& 14 x 13| 1,400
O2F=SAA EE2= M 5,000,000& 5,000
OEAl HEAZ HMEHI 250,000 *43| 1,000
OYAZEN CIHMS AR 228l 1,000,000 1,000
202 (44l 16,200 16,200 0
01 = LH o4 1l 16,200 16,200 0
OHASHAR =5 AIZFHAHEE b
150,000 9« 12& 16,200
203 YR =2t 1,000 1,000 0
03 Al =AY R =& 1,000 1,000 0
Oz2 =8Iy d&8s =3 1,000,000 1,000
301 LAz 15,000 15,000 0
09 SALAHIE &S 15,000 15,000 0
OEA S &5 ASH WUSH Xs
15,000, 000& 14! 15,000
405 XtatE SHI 35,200 0 35,200
01 AR ESFH S 35,200 0 35,200
OEAl sga & CCTV &XI (&) 35,200
—FAE B AAE 30,000,000& =14 30,000
— 28 MH 5,200,000 » 14l 5,200
BAEFE 22 2 E= 70,000 88,000 A 18,000
401 Al HI R 201 I 70,000 88,000 A 18,000
01 A& HI 70,000 88,000 A 18,000
OHAIZRZE 22l & 2= 10,000,000 x14) 10,000
OHHAl =20 &X 12,000,000& «5H £ 60,000
SAl DEJNE S| L2 827,459 648,713 178,746
< 253,950
Al 573,509
307 21201 A 827,459 648,713 178,746
< 253,950




2N HESLSH
g DSAMEXE

Ce: SHA2IGNE (RS AY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 573,509
02 It M AMHEE 827,459 648,713 178,746
Ousate ¢2¢J s4= XA 76,138,000 76,138
< 28,552
Al 47,586
OuwEIte &2l HEe =3 X&
751,321,000 751,321
< 225,398
Al 525,923
BAl 22 dH 29 2,000 2,000 0
301 et a3z 2,000 2,000 0
MIIEE43 2,000 2,000 0
OEAl 2AS R0FI 243
2,000,000& 14! 2,000
BAl 23 M €86 =4 12,000 10,800 1,200
201 L2l 12,000 10,800 1,200
02 2324l 12,000 10,800 1,200
OHAIEE |Xl2cltl
1,000,000 « 10 &+ 12& 12,000
S PNESES DAL 2,500 0 2,500
201 L4l 2,500 0 2,500
01 At 22l 2,500 0 2,500
OEANZIAZE EA&==Z 100,000 «5F x53] 2,500
BHAl E5AY AX 33,800 0 33,800
< 12,675
Al 21,125
402 RIZ2EXt20l ™ 33,800 0 33,800
< 12,675
Al 21,125
02 RIZt 2 AL EZ (OIS ) 33,800 0 33,800
OHAl 2538 &X X& 200,000& = 169CH 33,800
< 12,675
Al 21,125
SIE2SEAN SHE(RESAY) 12,306 12,306 0
3tE gl @5 9,744 9,744 0
201 Let24dH] 6,744 6,744 0
01 At 22/l 6,744 6,744 0
OESXDXN =X ANESHER 1=l 400
— &= 100,000 »4H 13| 400
O=2SAY 23 AR22ldl 5,000,000& 5,000
OSIEX X &M S Z2HH(0F2H)
,000& 4H +43| 128 1,344




2N
X ZH -
L= B
el

o
I

g(LSAE)

CEH SR (BH) - NBAY - B2 il 2
S =&l 1,000 1,000 0
TR =AH| 1,000 1,000 0
= SSME A 25 F4A 1,000,000& 1,000
sAa2 2,000 2,000 0
243 2,000 2,000 0
SUHSH AV 4D T4
2,000,000& 2,000
208 SANES 2,562 2,562 0
29| 2,562 2,562 0
29| 2,562 2,562 0
SEHXNZ2)H SAES
25,619,000& *10% 2,562
e H=nsE) 372,450 322,594 49,856
WEAE) 372,450 322,594 49,856
372,450 322,594 49,856
ul] 372,450 322,594 49,856
EtA 2 372,450 322,594 49,856
ASHHRACSE AZFESMAINMH 2 100,633
=0 1,360,000 x4H »12& 65,280
ALBERES 65,280, 000& *3.06% 1,998
A ABE= 1,997,560 & *6.55% 131
E=h=! 65,280,000& *1.5% 980
ATHE S 65,280,000& *1% 653
=03 65,280,000& *4 .5% 2,938
hs=< 100,000& x4H x12& 4,800
AEHSH XY 465,330& *1H *4Z J| 1,862
AZE x|
105,000 = (35A1 2H/40A1 2H) x4 < 12€ 4,410
— JHZAY| 130,000& x4H x12& 6,240
AILE AbH|
(1,360,0002 %84%*86%) *1/30%1/7%84 Al 2t 4 1,672
o4
— A2 =G 3,860 *10Al 2t*x4H x12& 1,853
=P = 5,816, 000& *100% 5,816
— orgsH|
50,000 = (35A1 2t /40Al 2H) %42 x 12 2,100
OgAaZ3 4,000,000& x4 16,000
OHANEHHASHE AIZPEEEH LI H E 227,817
=10 1,360,000 x9H »12& 146,880
—AABEEHS 146,880,000& *3.06% 4,495
— &I RYEES 4,494 5203 *6 .55% 295
- 1888 146,880,000& *1.5% 2,204




AN HHEsnsSH
M HY2IZH (WSS
SHol: QIS Pl (REAY) (ol @)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/

e
S

O
tm

I
(il
H
P

o
[[U
=

()

bl
oy

AEE 146,880,000 *1%
=gA=s 146,880,000& *4.5%
s+ 100,000& 9 122
ESHIEX 465,330 x3E x4 = J|

]
105,000 *(35A1 2H/40A1 2+ ) x9H 128
130,000& 9 122
248l

(1,360,000 «B84%*86%)*1/30%1/7*84 Al 2t +9

o
o

A2t =g 3,860 «10AI 2+ +9H <123
RN S, 13,086, 000& *100%
Hol & SHI

50,000 *(35A1 2 /40Al 2+) 9L « 128

4,000,000 »7&

1,469
6,610
10,800
5,584

9,923
14,040

3,537

4,169
13,086

4,725
28,000




A

— A
Nl = 0l & A & H
20179 & 20 4& wSAFE & A
SN HERSY
=M DS HOAL ME L DS OF =%
C7 HODSIDAY(REAY) (e aa)
= I .o = A2 } ol \’T_EE - =32
HHUWS 8,210,832 13,547,145 25,336,313
ns [AIE M3 £ uwsE ot &8 8,210,832 13,547,145 25,336,313
HONEHBAL(LSAIY) 3,242,832 2,870,145 372,687
YA XNsE SMA(ITS) 2ESAH 1,440,428 ,229,306 211,122
201 LEt29H| 457,428 453,455 3,973
02 33224l 457,428 453,455 3,973
OAUH A RAIEY(A0lTI0) 222
30,000 *852CH = 12& 306,720
OllsHA EEANAY dEHOIE=
10,634,000& x12& 127,608
OlISHA FEBEANAYE Sds
7,700& x250CH 122 23,100
203 PR =&Y| 1,000 1,000 0
03 A Z=X AR FXY| 1,000 1,000 0
OUSEEANY L2FAl 1,000,000& 14 1,000
401 Al HI L 20 Y| 982,000 774,851 207,149
01 Al HI 980,000 770,000 210,000
OHAFBOHLY &SI &X]
14,000,000& *70JH 980,000
03 AlE 201 YI 2,000 4,851 A2,851
OHAFEBOHWESSI| EX AMERUHI
2,000,000 2,000
HSYTAINLSAI FAEALG(RSEBAAEL) 1,802,404 1,640,839 161,565
309 MNEZ 1,797,934 1,638,339 159,595
01 SAt- 3HBAHEZ 1,797,934 ,638,339 159,595
OusSdEEBAAE 89 1,748,373,000& =14 1,748,373
OHAS Bl 2IFIFXI A 49,561,000& 49,561
404 SMNSHIH2HEEZ 4,470 2,500 1,970
01 SAt-BHNESHES 4,470 2,500 1,970
OusSdEEAAHE 89 4,470,000 =14 4,470
CAECAMSE(NSAIY) 1,000 677,000 A676,000
ot HEQ i E 1,000 677,000 A 676,000
203 € R =&Y| 1,000 1,000 0
03 A Z=XHREAY| 1,000 1,000 0
Oftn HEDID EH AIY LRF=XH|
1,000,000& * 14 1,000
LA NSAG(REAY) 4,967,000 10,000,000 A5,033,000
Z2AUNSANE 232 4,967,000 10,000,000 A5,033,000
308 XtXI &AM S0l A 4,967,000 10,000,000 5,033,000




EXN: st
HE: DS HOANL HZ L DE oW =
G ZANEAIL (WEAY) Ct
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
11 JIEIR Y= 4,967,000 10,000,000 A5,033,000
OUEZH S (ZIN-ZR) 0129 =IHEX
sag=2 3,600,000,000& « 1Al 3,600,000
I~SE BTG AMANY 2L
1,367,000,000& =14l 1,367,000
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25 337 AHNEN
HE: DEIAN =
el 2Y =TI} 2 (SEAY) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OSYFHEX WEHE AEIAH MHZE
2002 x5, 0000 x12& 12,000
OPDA cte X 1,100 *1,5002 1,650
Ol &t 2 CCTVEHS NEIEZ2 0 AMNMSEXNAM
Q| =Ml & 1209 «7 00000 x12& 10,080
OSHFEXN =2 349 H&
90,000 504 4,500
OSEHFEXN (Y =288 X M
100! «5,0000H 23! 1,000
O=YFTAI O A=A} EG 22
et 70,000& x6H x26 3] 10,920
OSYHFEX UEHE EII2 DXNAM A=HE
802 *3,0000H x12& 2,880
OIEHZE HII2 DXNA B2 2A=H
802 «1,7000H ~12& 1,632
OodesEd Ss= DXNM A=HE
80 x2,8000H x12& 2,688
O8UE: MY €82 DM 2AFHE
80! «1,5000H 93| 1,080
OFEIIUEHE dANEE =22
200,000 x12& 2,400
OltElg I EIIE Z2H ¢2)| dx=
15,000 x12& 180
OlElE MEIIE ZH HLI| M2 =2
400,000 «12€ 4,800
ORSM 25 2 K =& SIMEL4E
3,000 »400H 1,200
OF=1=1s] 12,768
—=2YHFEX} oL 22X 24| 12,768
XTI HH 7,000 x2H*x20 x12& 3,360
OF2t&t= 7,000 x4 *x20L 128 6,720
st 7,000 x4H x8 x12& 2,688
02 222%4| 253,845 254,645 A 800
OREe=2 234,476
— &S A OCTVEHS MESIAN 2522 132,780
SH 1,930& 5,500 x12& 127,380
ot H 300& 1,500 x12& 5,400
—=28HFEX JHE HIIE2 DA RER=2
1,930 +3,5000 x12& 81,060
—=2YHFEX JEHIE HIIE DA BEE2
LER= 300 «1, 7000 x12& 6,120
—UESY S5 INAN 2HRI
300 2, 8000 x12& 10,080
DAL MEHE SER=2
1,930 *2000H 386
—8UEE Y d8ESsH DXNA RER2
300 x1,5000H x93 4,050
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287 ZHusSY
HY2LZH (2T FHLSL)
IH2YH (LSAY)

S E B (3H) - MBAY - BES ﬁlf& HD=2
— g2 XY
(105,000 *35A1 2+ /40 Al 2F)*1 *128 15,435
— HHZAYH| 130,000« 14 x12& 21,840
—ZD224(BUE)
4,400 *14H = 10Al 2tx 128 7,392
— HII2 &I
(1,471,000 *84%*86%)*1/30%1/7x14H 140 9,919
Al 2+
— Horg sl 43,7503« 14 12 7,350
— &= 4,000,000& *10H 40,000
—2A2AEE 316,743,070& *3.06% 9,693
— &) YEH 9,692, 340& *6.55% 635
— =202 316,743,070& *4 .5% 14,254
- 1888 316,743,070& *1.5% 4,752
—MHES 316,743,070& x1% 3,168
03 2IAHAZZ2XHE %= 39,519 1,151
O8&EXNEE 39,519
—-JI=23 2,132, 7503 x1¥ 12 25,593
— HHZAYH| 110,000& »1H x12& 1,320
— 9 ZE Il 2,132, 7503 *100% 2,133
—AZ2t224
9,960& x1.5H1 *30A| 2tx12& 5,379
—5222
9,960& 1.5 *8AI 2t*x2 x12& 2,869
A X G 9,960& *8Al 2H*1H %23 1,833
—MHEE S 39,127,000& *1% 392
04 JIZtHI2E2EXNEE 792,734 792,734
OS=YHFAEX 452X 3 792,734
-=20 64,0003 27 H*x22 x12& 456,192
— 52422
64,0003 1 504 x27H +x1 22 x12& 37,325
— 9 &SIl 500,000 *»27H *23] 27,000
- =54 64,0003 x27H x52 89,856
— AX=E 64,000& x27H x12& 20,736
— A2tz x4
8,000& *1.5H »27H «10A| 2tx 122 38,880
—E &> 2,000,000 »27H 54,000
—H2AEE= 669,988,800& *3.06% 20,502
— A YEE =2 20,502,000 *6.55% 1,343
—=0HZ 669,988,800& *4 . 5% 30,150
- 1888 669,988,800& *1.5% 10,050
—AMEE 669,988,800& * 1% 6,700




N = 0l & At & Ml A

20179 & 20l & B EI XA H |

SH: 2

M XSGt T2 2E L HAA 2

CHel: FUNE S JIBAIE XA (ST NLAIS) (=& &)

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
c =2 5,313,500 1,000,000 4,313,500
N2t E28 2= 2 HHE 22 5,313,500 1,000,000 4,313,500
ZHEANE S JIBAIE ZAAIS (B WEHT ALY 5,313,500 1,000,000 4,313,500
2ANEH/SH ASHZAIE EXZ2A 5,313,500 0 5,313,500
401 AlEHIZL 2 0HY| 5,313,500 0 5,313,500
01 Al& H| 5,000,000 0 5,000,000
OZXNEsH7SsH ASHZAE AXZ2A
5,000,000,000& « 1Al 5,000,000
02 2elbl 300,000 0 300,000
OZXNEsH7sH ASHZAE EXZ2A
300,000,000 « 1Al 300,000
03 Al 20| 13,500 0 13,500
OZ2X 5756 ASHZAIE EXZ2A

5,000, 000,000& *0.27% 13,500




O] &F == I A
20178 & =0l & Bt BTN ALY A
SA: SADHY D
M TAIEH Y X ALY
Gel: BRI T SXIONLAS (HwEXIONLAY) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S A Dt 460,291,891 378,987,339 81,304,552
SAIEH & SEXHE A 460,264,571 378,948,299 81,316,272
W X7 E4XIOH AR (B B X002 ALY ) 460,258,571 378,942,299 81,316,272
TSI ER 7 24 471,160 3,302, 160 A 2,831,000
202 044l 2,160 2,160 0
01 = LH o4 1l 2,160 2,160 0
OHWE XL 2E As58 Ol
20,000 *3H »33| <123 2,160
305 a2 S 469,000 3,300,000 A 2,831,000
01 tia=s 469,000 3,300,000 A 2,831,000
OBWETMNE A5 24l
469,000,000 » 14! 469,000
Hui+ #HX3s 54,940 294,880 A 239,940
201 Let24E] 54,940 294,880 A 239,940
01 At 2t 2l 54,940 294,880 A 239,940
OTLAFASH & 2S3AHA =S (HEA
D23 AHA) 500,000& 103 x2H 10,000
BHlss dE31 6,000,000& 13 6,000
SUXBZ ZHEI L 2HS £48
14,000,000 * 14! 14,000
OA2s&3I 2UHHE 2,000,000& =14 2,000
O8YEtwXIT OO0 X 22l
5,000,000& =14l 5,000
OZglH EX & Ed37Y 330,000 61 x33] 5,940
OFge21n ¢ =z gel
12,000,000& =13l 12,000
T X7 XN ALY 7,650 26,195 A 18,545
201 L2l 3,600 4,200 A 600
02 =224l 3,600 4,200 A 600
OHuEIEss M2 KA 2L
300,000& »12& 3,600
203 YR =&l 4,050 4,500 A 450
03 A F=AH S =AY 4,050 4,500 A 450
OfsaJ2 & =023 4,050,000& 4,050
TR SHXIOHEALS Ol & ollblbl 459,724,821 375,319,064 84,405,757
801 GilHIbI 459,724,821 375,319,064 84,405,757
1 2eroldltl 459,724,821 375,319,064 84,405,757
Ououldl bl 459,724,821,000& 459,724,821
BAMAIE 2 (BLDEXHE 6,000 6,000 0
FAAX R AR SN 6,000 6,000 0
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AAIE 2 (HDEX NS ALY)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Yet2 | 6,000 6,000 0
02 B2 6,000 6,000 0

O3EX& KX 3,000,000& »2CH 6,000
HE2LZHI (S AIHE D) 27,320 39,040 A 11,720
Jl2dyl (B WXL ALS) 27,320 39,040 211,720

JlE&l 27,320 39,040 A11,720
201 LB-2dH| 10,920 14,040 23,120
01 At 22l 10,920 14,040 A3,120

ORNM2gHI 60,0003 x7H 128 5,040
OJle s gl 70,0003 x7H+128 5,880
202 o4l 12,600 16,200 A 3,600
01 = LH YI 12,600 16,200 A 3,600
O WEIXIHE AL =& (4]
150,000& 7H 122 12,600
203 ¥ S =&l 1,800 1,800 0
04 FENSEHR=LH| 1,800 1,800 0
ORN2EYS =2 150,000& = 12& 1,800
405 XHoHF S HI 2,000 7,000 A5,000
01 et EZFH S 2,000 7,000 25,000
OZFH(Z2LIEHMS, L) 1,000,000 *2CH 2,000




N & O & & F A
20178 & =0l & Bt BTN ALY A
T SOAITH A4 Dt
R STONETI= PP k=
DB XIS ANY (B ERXION ALY ) )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| XH A4 1t 5,028,020 10,035,730 25,007,710
WX EHXIONY 5,002,700 10,003, 000 A5,000,300
TRl X EA AN (W E XN ALY ) 2,700 3,000 A 300
EROHY 23 S22 g9 2,700 3,000 A 300
203 YR =& 2,700 3,000 A 300
03 A FXH S =AY 2,700 3,000 A 300
O 2H R 2,700,000 2,700
WS S JIBAIE ZHAY (B WEX 0L A) 5,000,000 10,000, 000 ,000,000
NEad2esrzs ASNHNIUM 2Y 5,000,000 10,000, 000 ,000,000
308 XtXIEHH SOl A 5,000,000 10,000, 000 ,000,000
MIIERES3 5,000,000 10,000, 000 ,000,000
OMSAZ=SEZ 2SH2ZUM 22E
5,000,000, 000& » 14! 5,000,000
HHE 2L Z U (S AITHA D) 25,320 32,730 AT,410
|2ZU (B X HEAY) 25,320 32,730 AT,410
JlE2&l 25,320 32,730 AT,410
201 LB-2E| 10,920 12,480 A 1,560
01 At 2t 2l 10,920 12,480 A 1,560
ORNM2gHI 60,000 x7H » 128 5,040
OJle s gl 70,0003 x7H «12& 5,880
202 O4dl 12,600 14,400 A 1,800
01 = LHA YI 12,600 14,400 A 1,800
OJIegRF& bl 150,000 x7H x12& 12,600
203 YR =&l 1,800 2,400 A 600
04 FN2ELSZ=TH 1,800 2,400 A 600
ORAN2EYE=4HI 150,000& =128 1,800




20178 & 20

N & 0l & At

A = AITH A4

o

Al

A S AT
M TAITHAAS
Gl TAITHAHAIS (S AITHA)

g Al

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
S Al TH 44 Dt 10,337,000 10,337,000
Xl 277,000
< 60,000
Al ,000,000
SAITHAM ALY ,337,000 10,337,000
Xl 277,000
< 60,000
Al ,000,000
SAITHAE AL (S AITH &) ,337,000 10,337,000
Xl 277,000
< 60,000
Al ,000,000
S ATH A ALY ,057,254 9,057,254
201 et 18,680 18,680
01 At 22l 13,680 13,680
OSATHEAIY WE2A =<
230,000 1 x63] 1,380
OZANTHEAIY E2S M A
4,500,000& 14 4,500
OSAMMSARE 510 HELg
100,000& » 13X »63| 7,800
03 &AL Z I 5,000 5,000
OZATHEAIY =CEAN AIAS
50,000 «20Z 500 7 4 %13 5,000
203 YR =2l 1,500 1,500
03 A FXH S Z=AY| 1,500 1,500
OsaJla & F0I2tg3] 1,500, 000& 1,500
307 gl2tol & 30,000 30,000
02 It M AHE L 30,000 30,000
OZAITHAMCHE 2H XA 30,000,000 » 14l 30,000
401 Al Bl 28I ,000,000 4,000,000
01 A& HI ,000,000 4,000,000
OZATHEAIY AU =8, EX, A=
ZEEIO Y I 200,000,000& 20 Xl ,000,000
801 Gl HIHI ,007,074 5,007,074
01 Brolli bl bl ,007,074 5,007,074
O ATHMAIS =& Gl Hl 8l 5,007,074,000& ,007,074
SANMEITAAEH 2 313,746 313,746
101 @124l 232,242 232,242
02 JIEH R 2 232,242 232,242
OZANHMEX2LE MR QI2AH| 213,384
—Jlas 152,335




2N

S AITH &4 2t

BB C AT A
S SATHAAIS (S AITHAY) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
A= (6=4E)
3,416,700& x1H x 123 41,001
Mo A (734 L)
2,444 4003 x2H x 123 58,666
HHOIDA (BT L)
2,194,500 x2H x12& 52,668
- &= 4,800
- i< Xt 40,0003 x5 128 2,400
- JIEt BLIE 20,0002 x10¥ «12& 2,400
—Az2telsg 27,452
= 10,3313« 1H «50A| 2t 128 6,199
= 9,332& x2H «50Al 2tx 122 11,199
8= 8,378& x2H «50Al 2tx 128 10,054
— Azl 7,740
- 6= 155,000 x1H x 123 1,860
= 140,000 x2H 123 3,360
8= 105,000& »2H 128 2,520
— ZE SO 15,233,400& =14 15,234
— SOtE &Hl
152,334,000% *1/12%86%*1/30*16 Y 5,823
OSAHMX2AME M2 AMIBEZ
1,571,472 14« 124 18,858
201 2yt 2 Y| 71,224 71,224
01 At 22l 65,824 65,824
OSZATHAMAISY 2 ICIUIOIE (S AT A X &
HEE) 29 +20264,306 22«45+ 128 «1H 25,374
Oger2d| 250,000 122 3,000
Og&Hl 2,000,000& » 14l 2,000
O= &l 70,000 x5H » 128 4,200
OHRA L NE=E 250,000 x6H 13| 1,500
odxz 2,100,000& =123 25,200
OLZEAN 7L 650,000 »7 4! 4,550
02 =224l 5,400 5,400
OZESHY MEZ 150,000 1A« 12& 1,800
Oz 300,000& =122 3,600
202 O4dl 8,400 8,400
01 2ot 8.400 8,400
OJIegfF& 20,0003 «6H 72 «12& 8,400
203 YR =&l 1,500 1,500
03 A Z=AH S =AY 1,500 1,500
SATHEAY 2= & X3 OGE RFA
=l 1,500, 000& 1,500
405 XH&kE S| 380 380




A S AT
M TAITHAAS

Gl TAITHAHAIS (S AITHA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 380 0 380
Od&ED (A7) 380,000 1CH 380
=828 AFE FUAY 400,000 0 400,000
Xl 200,000
< 60,000
Al 140,000
401 Al HIZ 201 8] 400,000 0 400,000
Xl 200,000
< 60,000
Al 140,000
01 A& HI 400,000 0 400,000
Oxtl2s X=E HHIAY 2 A&AHH
180,000, 000& 14 180,000
Xl 90,000
< 27,000
Al 63,000
O=828 ¥=E FHIAY MY
220,000,000 » 14 220,000
Xl 110,000
< 33,000
Al 77,000
ABEX A S AITH A AL 566,000 0 566,000
Xl 77,000
Al 489,000
207 A RO 566,000 0 566,000
Xl 77,000
Al 489,000
01 A3 39| 566,000 0 566,000
OLEXATHMEAIY E43HH = =&l
566,000,000 » 14! 566,000
Xl 77,000

Al 489,000




N = 0l & At & Ml A

20178 =0lat WIS ™MelAld &X

SN BABID
o 28H0 HIISAL 29
Sl HOISHRIAIE SXAL(HIISHRIANEL) CERED

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HAHFH M 35,538,000 0 35,538,000
SEXQ HIISAE 22 35,538,000 0 35,538,000

HOI2HM2IAE XA (HIISHelAlE) 35,538,000 0 35,538,000

0l Bl 8l 35,538,000 0 35,538,000

801 Gilbl bl 35,538,000 0 35,538,000
1 EHoll gl Bl 35,538,000 0 35,538,000

Oaolgldl 35,538,000, 000& 35,538,000
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